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EXPLANATIONS

(1) Mutual Funds

(1} State Bank of India

(1) SARAS

(4} India

(5) RITSAT

(1) Reserve Bank of india (REBI)
13} Rajiv Awas Yojana

{5) Only Band C

[3) Telecom Industry

[4) Ganga

i3 Only Aand B

(2] Switzerland

(1} Solar only

(4} Best Public Servant of the
year

. (1} Cuba

(4) China-Taiwan

(3) The Alrican National Congress
(1) Uranium enrichment plant
{2) China

[2) Saraswali Samman

(2] leeland

(3] North Korea

(4] 24%

[3) Wagah

[2) West Bengal

(2} Nepal

(5) Rs. 12,000 crores

(53) Murate of Potash [MOF)
{4) Two Lives

(3} Panchayat Raj Institutions
{1} Lavwn Tennis

{1) Morway

(4) One year

(4] Nuclear Energy

B3 Ml Ty Mead

Eal!
A Lawi

Firttnis
i3] Andhea B
i2F 1951

(5) Governor
11} Tea

{3 Ashe thought Noags
oite him once he was out of U
weell

ihesh

IR W H A

(2] He announced o reward Lo
anvone who could cure the
haoen

(M That Krishnan had brough
thosc crinaments for
which had been made for tl
prissing Prind

c1ling

i3 He presented gold to Krish
nan and also a house Lo live in
153 Naite of these

(1) Onty [B) and (C)

47.
48.

49,

51.

(5) None of these

(11 As he thought that Seth Ghany
shyamdns could help hine i seth
ing the ormaments gilted 1o him
by Shersingh

(1) As he could nat find et
work in his own villasge and s
lamily had 1o starve somelines
because of i,

A2 A goodd deed never poes un

resvarded

(3} The meanting of the word
Huwmble (Adjective) as uscd in
the passage is - nol large or spee
cial in any way: modes!

Look at the sentences :

He has a humble larmbioose
The company hos worked its way
up from humble beginnings to
become the market leader
Hence, the words humble anud
modest ore Synonymous

4] The rocaring of the word Seek
(Verty) as uscd in the prissase s
to ask somatsody for sonweliing
Look at the sentence :

| iteind it's Ciove we sooghl legal
advice,

Hernce, the words seek aimud ask
for are synonyoomis.

{2} The meaning of the word Go
(Verb) as used in the passage s
to live or move around in a par-
ticular siate,

Look at the sentence .

He cannot bear the thought of

. children going h!l:!;::'_-.'.

{1 The meaning of the word
Handsomely (Adverb) meoans
largely: properly. The word mea-
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. (2) Ikdiom ‘the gift of the gab

- 13 ook

grely as used in the passage is ;|
amadl in quantity and poor in gual- |
ity. |
Hence, the words handsomely '
and meagrely are anlonymous.
[5) The meaning of the word Con-
tinue [(Verb) as used in the pas-
aage is @ to keep doing something
without stopping.
Look at the sentence :
She continued Lo ignore cverything
P was saying,
Hence, the words continwed and |
stopped are antonymous.
(1] On touring the whole world
and Mlinding no couple who was
perfectly happy. the young cou
ple undersiood that it is very dil
ficult to find perfect happiness
anywhere in the world.
(3] One day, they heard that a
wise old man had come Lo town:
he could solve all kinds of prob-
leins and guide people.
{4) Sa the couple decided (o visit
the wise old man and tell him their
W[JT[}'. |
(5) The only thing that they wor- |
]

o

ried aboutl was, whether their
happiness would last forever or
would they too have to lace prob
lemns. '

(2) There was a young couple who
led a very happy life together.
{1} The word ‘life” Is a Noun.
Henee, an Adjeclive should be
used before it. The Adjective foim
of the word Lelsure (Noun) s iei-
s r:.‘ly. .
(5] No correction required

(4] The word “too’ is used (o show
excess of some quality.

means : the ability to speak cas- |
ity and to persuade olher people |
with your words.

(13) be the order of the day

[3) The correct spelling is ¢ il
umphant.

(2} The appropriate word should
be : handed.

(1) The correct spelling is ; dUff
cult.

(5) All correct

(4] The appropriaic word should
be : future.

{2) showing
(4} couple |
[1} VEry

7H.
6. (2} learn
TA.
T (2 whole

T (3 servants
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=8+ 72=152

. (3} The pattern of the number

series 15

11 +2 =13
i3 +3 =16
16 + 4 = 20}

20 + 5

—
125

+ (2] The pattern of the number

series 15

Tx2=-1=13
13 x2-1=125
Zh w2 -1 = 49

45”2-1:59-?}

. [3) The pattern of the number

Aeries 18

608 + 2 = 304
and + 2 =152
152 42 a T6

7642 - [36]

. |1} The pattern of the number

seTies is
BExl+1=9
9wl +2 =20
20 x 343 =63

E3x d +4 =252 4+ 4 e 1_3?55



100. {4) The pattern of the number
series is
541 =8
6+ 2% =10
10 + 32 =19

19 + 42 = [35]

101. {3} Of the given alternatives,
required number = 16
Unit's digit = 6 = Ten's digit x 6
and6-1=5

102. {3) Required average

132 +148 + 164 + 128 + 120 + 136

s R R ey

a 6

828
= — =138
6

103. (1} Decimal equivalent of the
fractions :

7 =0875. E = {17
8 "7

=067 ; = =08

W b
o

Clearly EEE?E

Y- 87773

104. (1) Let the population of the vil-
lage X be Hux.

and that of village ¥ = 7x.

According to the question, -
5x___25

Tx+ 25000 36

= 1B0x = 175x + 25 = 25000

= Hx = B25000
108, (5) Let the number be x

3
-
5

1
2 am BT x' =
(72 - 56} x 7= 56

iﬁ_xlﬂﬂ
= X = 16

o 70% of 350

_380%70 _oss
100

106. (3] Speed of the train

Length of (train + platform)
-
Spent time

2-‘1[}+3{]D“|_
a7 ‘J| m/sec.

540
27

m/sec,

18
= Eﬂj{_ .
[ 5 ] kmph

= 72 kmph

107. (4] Cost price of the article

100 )
= Rs. [E" 3240 |

= Rs. 2700
108. (4) M, D, = M, D,
= 16x7=28x0D,
16x=7
28
109. (3) Sum of the five consecutive
even numbers = 380
2 Third even number

==r[:l!= =4da]_,rs

%80
;-51

s Required second number
=TH-2="T4

110. (2] Let the CP of a dozen of ap-
ples and a dozen of bananas he
Rs. x and Rs. y respectively,
According to the question,
Gx + By = 1400
Dividing both sides by 2,
3x + 4y = 70O
Multiplying both sides by 5
we have,
15x+ 20y =T0D0 x 5
= Ra. 3500

111. (4) Ratio of the profits of Beena
and Meena
= 35000 : 56000 =5:8
If the total profit be Rs. x, then

nx

el
1a o000
45000 =13
= X= "2
5
= Ra, 117000
S 100
112, {4} Principal = e ——————
ST200 = 100
=11
= R=. 65000
T
= ]+
113 (2] A F’[ 100 )

g 2
= 25000 [T* ]
100

- ro. (250006 227
= Rs. 20160
114.!4!x}¢i=y ﬂﬂ y::g
7 100 5
X 2. 7_7
Yy 5 1 10

115. (2) Let Nandkishore had initially
Rs. x

Savings per cent = 15%

XX ﬁ 1250
11250 = 100

s 15

= Rs. 75000

116. (2) Total number of students in
the institute D

= 440 + 480 + 420 + 120 + 340

= 1800

- Required percentage
480 2

= H}ﬂ— — = 26—
1800 3 3

117. (3) Required average number
.E:E'.ﬂ + 360 + 340 + 200 + 330

B R e i = —

51

1510
- o - 302
5

118. (1) Required ratio
= (360 + 420) : (380 + 340
= TH0 : 720
=13:12
112, (5] Average number of students

in Commerce
260 +320 + 300 + 480 + 360
5

1720
- = =344
5

120. {5) Required per cent
["-I'SD + 24:}]
300 + 320

_ 290 10005

620
121. (3 B R O WN
L4l
53 1 @ %
Therelore,
E OB E
Il 11l
3 1 5 6
122, (1)

e (D] TN [R]
Sth
The position of D from the left
=40 - 16 + 1 = 25th
123. (S| A, D>B>CsE

Clearly, E 2cored the lowest
marks.

=

ME A
Ll
26 © %



124. (39 4 3 1 6 5 B8
1 3.4 5. 6 8 9
128. (B Mcaningul Words

= LIVE, VEIL, VILE, EVIL
1286. 15)

1522 51823 8 5 1213
OV ERWHETLM
127. (2)
ACEGIKMO BDFHJLN
ACEGIEKM BDFHJ L
---------
128. (1]
R B 1 T A L
+1 -1 1
CcC 5 P H I ;
Similarty,

B I D @ S F H

128, (3) Except 529, all others are
perfect squares of even numbers,
The number 529 is a perfect
square of an odd number.

196 = 14 = 14; 266 = 16 % 16
520 = 23 = 23; 570 = 24 « 24

324 = 18 = 1B

=0 . P =2

p 5 3
H—" 4D
L—* . H
ﬁ —4

130. {1) R

w

-4

P M

131. (5126 - 15+ 5 x4 +2 =7

= P26+ 10 +5-4x2
=726+ 3-8=21

(3} 7th to the left of 19th from
the left end means 12th (rom the
left end, ie., ®, .

133. (1)

132,

-rﬁ +r -l-‘
52 ,p—E 52 5 ,y

g8 Lg% w8 g 6

5- Mgt

# 3]
rF-—*—h_]'

134. (3) | Letter
Such combiinations are :

Lo
_|_".=- .,T.?:J.

Consonant | Number |

et

e

138. (1} According to question, the new
sequence would be

R53MDP14 I?:\EEWJEHHQ?UTWE
|

16th from right

136, (2) [ Number [ Symbol [ Consonant |

There is only one such combina-
tion I-_iﬂ 8M |

137. [2) E}TﬂnFDITﬁw:i?Numt;r_i

There 1s only one such combina-

tlnn:_{w|
(138-143):

il PSQ =

i) POQ =

i) PHQ =

v P& Q =

vl P*x Q =
138. (2 BON =

N8R = N>R

F*¥R = F<R
Therefore,. B>Nz>Rz=>F
Conclusions
. BE2R =B>RE:True
. F¥ N =F<N:Not True
NM.RSB = R<DB:True
2IDSEM = D<M

M*B = M<B

B6d = Bw=dJ
Therefore, D<M< B=J
Conclusions
. J2D
nopab
In.Ja& M
(3) F*T

TSN T =M

N@#R N=R
Therefore, FsT<N> R
Conclusions
I. RST
II. N&F
INLFSR
5 WaK

K&oF K=F

FSM = F<M
Therefore, Wes K> F <M
Conclusions
I. MK = M>K:NotTre
. W& F = W3z F:NotTrue
I.Faw

P<(
P=0
Pel}
PzQ
P<Q
B>N

139,

J =D o Triie
B>D:NTrae
J=M: True

140. FeT

T A |

=T : Mot Trae
N>F :True
F«R:NotTrwe

141. W=K

IR

i

= FzW:NotTrue

142. A MED = Mz=D

DEK = D=K

KRoR = HK=H
Therafore, M > D =K >R
Conclusgions
. RSEM = R<«<M: True
I. K&M = K=M:NotTrue
NMLESM = K<M:Not True

K is ¢ither smaller than or equal
1o M,

Therefore, either 1 or 11 is true,
MMF@T = FzT

TOK = T=K

KD = K<D
Therefore, F2T=K <D
Conclusions
I. D@&@F = D2>F :Not True

143.

II. FEK = FzEK:True
M.D&@T = D>T:True
(144-149):

Silling arrangement

144.
145.

(3 T is second to the right of M.
(1} M is to the immediate right of
D,
{2) M 15 third to the right of P.
[4) P is second to the left of D.
(5) P is sitting to the immediate
rgh of A,
(5] Pand R are immediate neigh-
bours of A,
(150 - 158) :
M) All dogs are cats — Universal
Affirmative [A-type).
(i Some bikes are cars — Partic-
ular Affirmative (I-type).
[lH]) Mo wall is road — Universal
Negative (E-type).
(W] Some walls are not roads —
Farticular Negative (O-type).
150, (11 All the three Premises are Par-
ticular Aflirmative ([-type). Mo Con-
clusion follows from the two Par-
ticular Premises,

146.
147.
148.

148.



151. (4) Some cals are rats.

All =S are mals.
i+ A= [-lype of Conclusion.
“Some cals are mats”,
Conclusion | is Converse of it.
Conclusion Il is Converse of the
second Premise.

162, (3) Some benches are drums.,

All drums are kites.

| +A4 = I-type of Conclusion
"Bome benches are kites.”
Conclusion [l is Converse of it.

183, (2} Some boxes are walls.

Mo-wall is road.
| +E = O-type of Conclusion
“Some boxes are not roads.”

Mo wall is road.

AN roads are rivers.

E +A =y O -type of Conclusion
“Some rivers are not walls.”
Conclusions | and U form Com-

plementary Pair. Therefore, either
I or 111 follows.

154. (3] Some tables are chairs.

/”

Al chairs are houses.

I+ A = l-type of Conclusion
“Some tables are houses.”
Conclusion 11 is Converse of it.

All chairs are houses.

-

All houses are tents.

A + A = A-type of Conclusion
“All chairs are tents.”
Conclusion il is Converse of it.

156. (4) All pe:njar/nﬁuckﬁ,
All sticks are rings.

A + A = A-type of Conclusion
"All pens are rings.”
Conclusion [ is Converse of it.

All sticks are rings;,

—

All rings are rods.

A+ A= A-type of Concluston
“All sticks are rods.”
Conclusion 1l is Converse of it.

All pens are rings.

F5
All rings are rods.

A+ A = A-type of Conclusion
“All pens are rods.”
Conclusion II1 is Converse of it.
188. (1) The movemenlt and other
changes in the subsequent fig-
ures can be shown as :
(1) tor (2) (2) to (3)

These two steps are contlnued
alternately.

157. (2) From Problem Figure (1) to(2)

the deslgns at the four corners

move one step in anticlockwise
direction and the right most de-
slgn of the middle row moves to
the leftmost positlon. Stmilar
changes cccur from Problem Fig-
ure (3} to (4] and from Problem

Figure [5) to Answer Figure.

(3} From Problem Figure (1) to(2)

the rdghtmost letter moves to the

lefimost position. Similar chang-

es occur from Problem Figure (3]

to (4} and from Problem Figure

(9] to Answer Figure,

168. (5] From ProblemFigure (1) to (2]
the four designs of upper sector
move one step in anticlockwise
direction and the four designs of
lower sector move one step in
clockwise directlon. Similar
changes occur from Problem Fig-
ure [3) to (4) and from Problem
Figure {5} to Answer Figure.

160. (4) From Problem Figure (1) to(2)
the two designs from the leit

move o the right position and
vice versa. Similar changes oc-

cur from Probelm Figure (3] to
(4) and from Problem Figure (5)
Lo Answer Figure.

181. (2] Central Processing Unit

162. (2) information

1683. (1) Machine language

164. (2} Debugging

165. (4) software

166. (4] loss= of data

167. (1} justilied

158.

188. [4) can have any colour you
choose

189. (2} Use the Save as... commaned

170. (4} Spreadshect

171. (1} Drag mouse while holding
button down

172. (1) prograrmumning language

173. (4] DOC

174. (3) hardware

175. (2) You can only see the page you
are currently working

176. [5) All of these

177. (4) selling additional products to
existing customers

178. (1] all existing account holders

179. (2] more calls to many buyers

180. {2] all employees

181. (4] RW

182. (1) Data

183. (2} processor

184. (5) All (1), (2] and (3)

185. (4} identify the file type

188. (1) Covering a wide area of the
Market for sales

187. (2} optical

188. (1] Small And Medium Enterpris-
es

188. (5) The whole organisation sells

180. (1) persons below BPL

191. (1) oulside agencies

192. (3) Lifelong relationship with the
buyer

193. (2] large industries

184. (4) All of these

185. (3] for cross selling

196. (2) Consistency

197. (4] Designing new products

198. (1) all builders

199. (1) a pre-sales function

200. (5) Opening Accounts of under-
privileged persons



